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— ~ 28 (15 points, 3 points each): Choose one best answer for the

following questions. X & : HNREL "EFBUEE , KA4Z -

1 ~ Gibson Manufacturing is a small textile manufacturer using machine-hours as the
single indirect-cost rate to allocate manufacturing overhead costs to the various jobs
contracted during the year. The following estimates are provided for the coming year
for the company and for the Winfield High School band jacket job.

Company Winfield High School
Job
Direct materials $40,000 $1,000
Direct labor $10,000 $200
Manufacturing overhead costs $30,000
Machine-hours 100,000 mh 900 mh

‘What is the bid price for the Winfield High School job if the company uses a 40%
markup of total manufacturing costs?

a. $2,310
b. 8588

c $1,680
d.  $2,058

2 ~ Roberson Corporation mamufactured 30,000 ice chests during September. The
overhead cost-allocation base 1s $11.25 per machine-hour. The following variable
overhead data pertain to September.

Actual Budgeted
Production 30,000 units 24,000 units
Machine-hours 15,000 hours 10,800 hours
Variable overhead cost per machine-hour: $11.00 $11.25

What is the variable overhead efficiency variance?
a.  $3,750 favorable
b $16,875 unfavorable
c.  $13,125 unfavorable
d $30,375 unfavorable
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3 ~ Ballard's Glass Company has a variable demand. Historically, its demand has
ranged from 10 to 20 windows per day with an average of 15. John Ballard works
eight hours a day, five days a week. Each order is one window and each window takes
26 minutes.
What is the cycle time for an order?

a. 26 minutes per window

b.  56.4 minutes per window

c.  82.3 minutes per window

d. 520 minutes per day

4 ~ Bugos Company makes a household appliance with model number XX300. The
goal for 20x4 is to reduce direct materials usage per unit. No defective units are
currently produced. Manufacturing conversion costs depend on production capacity
defined in terms of XX300 units that can be produced. The industry market size for
appliances increased 5% from 20x3 to 20x4. The following additional data are
available for 20x3 and 20x4:

20x3 20x4
Units of XX300 produced and sold 10,000 10,500
Selling price $100 595
Direct materials (square feet) 30,000 29,000
Direct material costs per square foot $10 $11
Manufacturing capacity for XX300 (units) 12,500 12,000
Total manufacturing conversion costs $250,000 $240,000
Manufacturing conversion costs per unit of capacity $20 $20

What is the revenue effect of the price-recovery component?

a. $2,500U

b.  $52,500U
c. $47,500F
d. - $50,000F

5 ~ Waldorf Company has two sources of funds: long-term debt with a market and
book value of $10 million issued at an interest rate of 12%, and equity capital that has
a market value of $8 million (book value of $4 million). Waldorf Company has profit
centers in the following locations with the following operating incomes, total assets,
and total liabilities. The cost of eqﬁity capital is 12%, while the tax rate is 25%.
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Operating Current

Income Assets Liabilities
St. Louis $ 960,000 $ 4,000,000 $ 200,000
Cedar Rapids 51,200,000 $ 8,000,000 $ 600,000
Wichita $2,040,000 $12,000,000 $1,200,000

‘What is the EVA for St. Louis?

a.  5$255,740
b.  $327,460
c.  §392,540
d.  $720,000

=~ BER&E (85 points): Show all computation procedures to get partial credits;
correct answers without supporting computation will receive NO points.
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2. (20 Points)

Pet Corporation uses the following estimates for applying material acquisition costs:

Annual estimated Purchasing Department costs............. $ 55,863,000
Annual estimated Inspection Department costs...............$ 31,035,000
Annual estimated Receiving Department costs.................5 1,727,000
Annual estimated direct materials purchases.................. $620,700,000
Estimated items to be received...........occoeiiiiiieniiieineinens 550,000
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items received.

Required:

3. (15 points)
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The company applies the material handling costs of Purchasing and Inspection departments on the

basis of the dollar value of materials purchased and the Receiving Department costs on the basis of

Using the following actual data for the period, which have been recorded, prepare journal entries to

close the balances of the material acquisition ledger accounts to Cost of Goods Sold.

Direct materials purchased......................... e $625,000,000
Purchase Department cost..........ocoeviineiienennnen. $ 56,274,000
Inspection Department Cost.........coveviirniiininennnn $ 31,236,000
Receiving Department cost.......c.oceiviiiiiiiiiiiinnin $ 1,640,000
Items received...............

...................................... 545,500
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$30,000
400
1,000
1,600
70,000
130,000
6,000
2,000
3,000
2,000
10,000
1,000
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4. (15 points; S points for each question)

Apple Company uses a manufacturing costing system with one direct-cost category

( direct materials) and three indirect-cost categories:

a. Setup and material-handling costs that vary‘with the number of batches

b. Manufacturing operation costs that vary with machine-hours

c. Costs of engineering changes that vary with the number of engineering changes
made

In response to competitive pressures at the end of 2004 , Apple Company employed

value engineering techniques to reduce manufacturing costs. Actual information for

2004 and 2005 are

2004 2005
Setup and materials-handling cost per batch $80,000  $75,000
Total manufacturing operating cost per machine-hour $550 $500
Cost per engineering change $120,000  $100,000

The management of Apple Company wantsto evaluate whether value engineering has
succeeded in reducing the target-manufacturing cost per.unit-of one of its products ,
AS26 , by 10%. Actual results for 2004 and 2005 for AS26 ‘are

Actual Results Actual Results
for 2004 for 2005

Units of AS26 produced $35,000 $40,000
Direct material cost per unit of AS26 $12,000 $11,000
Total number of batches required to produce AS26 $700 $800
Total machine-hours required to produce AS26 $210,000 $220,000
Number of engineering changes made $140 $100

(1) Calculate the manufacturing cost per unit of AS26 in 2004.

{2) Calculate the manufacturing cost per unit of AS26 in 2005.

{31 Did Apple Company achieve the target manufacturing cost per unit for AS26 in
2005 ? Explain.

5. (20 points; 10 points for each question)
Super Computer Corporation , manufactures and sells desktop computers . Super

Computer Corporation has three divisions , each of which is located in a different
country :
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a. China Division-manufacturing memory devices and keyboards
b. Korea Division-assembles desktop computers using internally manufactured parts
and memory devices and keyboards from the China Division
c. U.S. Division-packages and distributes desktop computers
Each division is run as a profit center . The costs for the work done in each division
for a single desktop computer are as follows :
China Division : Variable cost = 10,000 yuan
Fixed cost = 18,000 yuan
Korea Division : Variable cost = 3,600,000 won
Fixed cost = 4,800,000 won
U.S. Division : Variable cost =$1,000
_ Fixed cost=52,000
»  Chinese income tax rate on China Division’s operating income : 40%
» Korean income tax rate on Korea Division’s operating income :20%
» U.S. income tax rate on U.S:Division’s operating income :30%
Each desktop computer is sold to retail outlets in the United States for $32,000 .
Assume that the current foreign exchange rates 2re
8 yuan = S1U.S.
1,200 won = $1 U.S.
Both the China and the Korea divisions:sell-part of their. production under a private
label . The China Division sells the comparablesmemory/keyboard package used in
each Super Computer desktop computer to a Chinese manufacturer for 36,000 yuan .
The Korea Division sells the comparable desktop computer to a Korean distributor for
15,600,000 won .

(I3 Calculate the after-tax operating income per unit earned by each division under
the following transfer-pricing methods : (2) market price , (6)200% of full costs,
and (c) 300% of variable costs . (Incorme taxes are not included in the computation
of the cost-based transfer prices . )

{2y Which transfer-pricing method(s) will maximize the net income per unit of Super
Computer ? Explain?
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